
8+4= 12

11-4= 7

Rick has 10 shells. He
finds 4 more shells. How
many shells does Rick
have now?

Which number sentence
matches the model?

8+3= 11

12-3=9

What is the sum?

2
+ 9

Which doubles fact does the
model show?

2+2= 4
4+4= 8
3+3= 6
5+5= 10



What is the sum of the
double minus one fact?

8
+ 7

Write a related fact for the
number sentence.

8 + 5 = 13

Write a related fact for the
number sentence.

17 - 8 = 9

Pat picks 18 flowers. 9 are
yellow. The rest are pink.
How many are pink?



What is the missing number?

16 = 8 + 

= 16 - 8

What is the missing number?

4 + = 10

10 - 4 =

Mia scores 8 goals. The team gets 15 goals.
Which number sentence shows how
many goals are scored by the rest of the
team.

15 - 9 = 6

8 + 6 = 14

15 - 8 = 7

9 + 8 = 17

Which makes the sentence true?

10 - 3 = 2 + 

5 6 7 8



Sam has 9 baseball cards. She
wants to have 17 cards. How
many more cards does she
need?

Sasha has 8 red apples. She
has 3 fewer green apples than
red apples. How many apples
does she have?

Draw a silly monster
with  8 eyes, 3 noses, 2
mouth, 6 arms, 4 legs!

Eli has a box with 12 eggs. His
other box has no eggs. How
many eggs are in both boxes?

more cards. eggs.

apples.

Write a number sentence to solve. Write a number sentence to solve.

Write a number sentence to solve.



Write the missing number.

Find 14 - 8.

14

8

8+         =14

14 - 8 = 

Write the missing number.

Find 17 - 8.

17

8

8+          = 17

17 - 8 = 

Write the missing number.

Find 11 - 6.

11

6

6 +        = 11

11 - 6 = 

Write the missing number.

Find 15 - 9.

9 +         = 15

15 - 9 = 

15

9



Write the missing number.

Find 20 - 10.

20

10

10+         = 20

20 - 10 = 

Write the missing number.

Find 13 - 4.

13

4

4+          = 13

13 - 4 = 

Write the missing number.

Find 12 - 7.

12

7

7 +        = 12

12 - 7 =

Write the missing number.

Find 15 - 8.

8 +         = 15

15 - 8 = 

15

8


